EARAZROREIERT — 2 N—XBISY —F 20165F9R16H (£) 6[EIHEFN3H

IV >%—#% C3==m (w8 | mEmml - |5 0 v s
[AE4£] 17 :800,000 3 ~ 23#&:240,000 3 ~ 33#&:136,000 M . 4 & :104,000 5 i :80,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: 7T J5Hh 4 6 ;Fga(a)s%&‘a 1:30.1 6-6-5-2 | 38.3| — 1 554 ﬁ;i =§;‘ﬁfu>
R:d—IWRT7Y 21— BNSHAARTSTT— ) (+6) U“%tf)i&t%
2 g|7A¥—a—F > 5 59?357_ 1:(310).3 1-1-1-1 |39.0| — | 3 | 488 iﬁﬁéﬂ (##n)
Q:xF1ZTr—2 B:v—sLy ka—F ) ass—n
31| FIvaynLy B4 ﬁ%l‘éﬁé 1:(351>.2 3-4-4-3 |39.7| — 2 500 %\%@Eéiﬁfu)
QFALZTr—2 BiAYLaINE— 2 g m=
4l5l6 HAF =157 I 5 £ 5 suélﬂlgnﬁ:t 1:(311).4 9-9-8-6 |38.7| — 6 471 *Tgf%;’j@ﬁ
Ritr/nJoMa B:7r43 5 J—HTr—L
5 4 O KLAZX&LY it 6 ﬁ%ﬁé% (11:311/.27) 4-3-2-4 | 40.2| — 9 472 _gg%;u (##0)
LiELE G BAHI IS #3) | Fsgsn
6/5/5  IXRELY KT A # 8 | ZTER T 8699 |00 — | 11 | 503 | EEEX (W)
R:T—ASAHLF— FA—h K #9) |zt oumss
SRS 4 4 | HTHER 1:31.7 7-7-7-7 | 39.4| — 5 461 | TEE(REE (AN
7 2 HivHy v 54.0 7 & ) Tz b
] QN—ELTr— BiEZ/HUZ 7#%) ) I mmzavr
glgli1| TL/7T9> H 6 ?%*g*g (12:312/.22) 5568 |40.1| — | 4 | 513 ;igg (ats)
LALNTyFNE B Hy KTy KA ) | i mal
9 3| NTE=FTJL—+h R i 1(:13/2253 S Dl 5—226) “gi;g;;ﬂ—u? NEP
LN E2=TAF7F78— B:ARTy70O-hk HET7—L4
1017] 9| PRI YIS=bhF— # 5 ;ﬁﬁﬁ 1:(343).1 10-10-10-10{ 39.4 | — | 10 | 499 f?ﬂi‘?ﬂ?ﬁé;ﬁiﬂ)}( "
LAISTLIFL L 8BS TUA = b= 2 e mx
170l *EUT XA b 6 ;ﬁ%’)*a 1:(323>.5 12-11-11-11] 39.5 | — | 12 | 449 g;@g (a%0)
L:€r/a7AC BiF 2Z7Ea- AP el P
12l8l10| EA 723 4 5 gi”'ﬁg 1:(354).4 11-12-12-12| 39.8 | — 8 485 Jlgﬁjgj(;;ﬂ_u)ﬂ\eya‘/
LTFIFRFIEN BivanFrTE-O RE
@ 1—F—@&BIEf
13=7r= 8,3,1,4,11,7,2,5,6,9,12,10
2ol =3F= 8,3,4,1,11,7,2,5,6,9,10,12
30—+— 8,4,3,1,7,11,2,6,5,9,10,12
41—+ — 8,7,1,4,3,6,2,11,5,9,10,12
[ RN
B OB 7 160M 794K 7-8 180 e & 6-6 480M JEE 1-7-8 410M4
% B 7 100MH 1-7 1400 | | # B 6-6 510 | | SEE 7-8-1 1,710
8 140M 1-8 240/ B E 7-8 440/
1 110 B HE 7-8 660M

ABICOVWTRDTEEERROODE. TR LIV,



